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INSTRUCTIONS

1. This exam is out 0

2. This Examination

Section Il: Short Ans

ctions. Section I: Multiple Choice Questions
tion 111: Long Answer Questions

ER BOOKLET provided. Do not write on the question
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SECTION I: MULTIPLE CHOICE QUESTIONS (20 MARKS)

1. Anadvantage of VIP latrines is that:-
A. It enhances control of flies and odor

B. It enhances control of rodents only
C. ltis easy to construct in sandy areas
D

. It requires excreta treatment thus it is safer.

2. The role an occupational health nurse playsg#when p amination of

exposed workers is:-

Professional role
Environmental role
Educational role
Managerial role

COow>

3. Attack rate is a stati
A. Pandemic
B. Epidemic
C. Endemic
pidemiology

lated during a:-

A. Primary prevention strategy

B. A secondary prevention strategy
C. A tertiary prevention strategy

D. Itis not a prevention strategy
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6. The following study design is most appropriate for estimating the population prevalence of
a disease:-
A. Case series.
B. Cohort study.
C. Case-control study.
D. Cross-sectional study.

7. The epidemiologic triad of disease causation refers to:-
A. Agent, host, environment
B. Time, place, person
C. Source, mode of transmission, susceptible h
D. John Snow, Robert Koch, Kenneth Rothman

8. Pathogenicity is the ability to:-
A. Cause clinical disease
B. Cause severe disease
C. Evoke an immune respo
D. Cause pain

9. Incidence rate is:-
A. The number o
population at ris

B. The number of ne

a particular time, divided by the
at that time.
a population over a period of time.

10. Th Kk investigation is:-

ence of an outbreak
ase definition

11. Delayed return to fertility is a side effect of:-
A. Progestin only implants
B. Intra-uterine devices
C. Progestin only injectables
D. Billing’s method
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12. In case a client misses to take the combined oral contraceptive pill for 2 consecutive days
they should:-
A. Take both missed pills as soon as possible, use a back-up method
B. Take a pill as soon as possible, start the next pack without a break
C. Take a pill as soon as possible, no risk of pregnancy
D. Take both missed pills, use emergency contraception as soon as possible

13. Combined Oral Contraceptives ( COCs):-
A. Protect against STI/HIV/AIDS
B. Require strict daily pill taking
C. Have no effect on breast milk
D. Reduces menstrual cramps and pain

14. Intra-uterine devices are contraindicated in:-
Family history of breast cancer
Obesity
Pregnancy
Dysmenorrhea

oSO w>»

15. Microgynon is categorized as a:
A. Monophasic pil
B. Biphasic pill
C. Triphasic pill
D. Quadraphasic pi

. The Sustainable Development Goal that addresses health is goal number:
A. Two

B. Three

C. Four

D. Five
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19. Regarding the Kenya Essential Package For Health(KEPH):
A. It focuses on promoting healthy life styles rather than managing illness
B. Itis a strategic objective of the Kenya Policy Framework
C. It strengthens the interface between facility and community based health services
D. The health indicators under the package showed a downward trend.

20. In community diagnosis, developing objectives as to why the survey is being carried out
is done during:-
A. Exploration stage
B. Pre-testing of instruments
C. Execution stage
D. Planning stage

21. Cost-effectiveness in management refers to:

A. Giving priority to those services

B. Distribution of limited resource ev

C. The practice of consideri
program

D. Scientifically sound a

put.

urrent costs before starting a

SECTION Il : SHORT AN

1. State the phases o ( 6 Marks)

2. ing diagnosis and community diagnosis

3. (4 Marks)

4. Ith insurance over cash payment in health care financing
(5 Marks)

5. (5 Marks)

6. 1 of dispersion as used in epidemiology (6 Marks)

7 ertaining that a woman is reasonably not pregnant ( 4 Marks)

ANSWER QUESTIONS (LAQ) (20 MARKYS)
1. State five hods of vector control in a community environment (5 Marks)

1dy of smoking and lung cancer was conducted in a small island population.
There were a total of 1,000 people in the study, and the study was conducted over a ten year
period. Four hundred were smokers and 600 were not. Of the smokers, fifty developed lung

cancer. Of the non-smokers, 10 developed lung cancer.

a) Design a two by two table for the above data set (5 Marks)
b) Calculate and interpret the odds ratio (5 Marks)
c) Calculate the risk ratio (5 Marks)
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